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The estimated tidal power potential of Indian coast is around

(a) 12000 MW (b) 14000 MW (c) 9000 MW (d) 18000 MW
Which parameter is used as an index to measure the standard of living of people of a country ?
(a) Industrial production (b) Number of vehicles per house

(c) Per capita energy consumption (d) Population density

The efficiency of a commercial solar cell lies in the range
(@) 2% —10% (b) 10% —20% (c) 30% —40% (d) 40% —50%

A biogas consists of

(a) only methane gas

(b) methane gas, carbon dioxide and some impurities
(c) only ethane

(d) aspecial organic gas

Which of the following area is preferred for solar plant ?
(a) Coastal areas (b) Hot and arid zone (c) Mountain tops (d) High rainfall zones

The maximum wind energy available is proportional to

(a) Air density (b) (Wind velocity)?

(c) (Rotor diameter)? (d) All of these

Which one of these resources does not produce CO, during electricity generation ?
(a) Coal (b) Petroleum (¢) Uranium (d) Biogas
Two unequal ideal current sources cannot be connected in

(a) Series (b) Parallel

(c) (a) and (b) are correct (d) None of these

In a power plant, a reserve generating capacity which is in operation but is not in service is
known as —

(a) Hotreserve (b) Spinning reserve

(c¢) Cold reserve (d) Firm power

Diversity factor has direct effect on

(a) Fixed cost of unit generated

(b) Variable cost of unit generated

(c) Both Fixed and Variable cost of unit generated
(d) None of these

The suitable turbine used for harvesting tidal power is
(a) Francis turbine (b) Kaplan turbine  (c) Pelton turbine (d) None of these

The three colours of a single phase three wire system are
(a) Phase-black, Neutral-red, Earth-green (b) Phase-green, Neutral-red, Earth-black
(c) Phase-red, Neutral-black, Earth-green (d) None of these

Which of the following distribution system is most economical ?
(a) 3-phase, 3-wire, AC system (b) 3-phase, 4-wire, AC system
(c) 1-phase, 2-wire, AC system (d) DC system
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Which of the following is not a type of wiring ?
(a) Conduit (b) Bottom (c) Cleat (d) Casing & capping

For regenerative braking, the regenerated power should have
(a) same frequency as that of supply frequency

1
(b) frequency 3 of the supply frequency

2
(c) frequency 3 of the supply frequency
(d) any frequency
The range of frequency normally used for dielectric heating is

(a) 10 kHz to 100 kHz (b) 100 kHz to 1 MHz
(c) 10 MHz to 40 MHz (d) 1 MHzto 10 MHz
In thyristor circuit, a snubber circuit is used for
) : dv .
(a) Triggering (b) at protection
di
(c) E‘t protection (d) Both (b) & (c) are correct

In an L-R circuit, the value of resistance is 3 Q and the inductance is 1.2 H. The time constant
is

(a) 4.8 sec. (b) 48 sec. (c) 0.4 sec. (d) 0.2 sec.
For DC applied voltage an inductor under steady state condition behaves as
(a) Voltage source (b) Current source  (c¢) Short circuit (d) Open circuit

If the binary number 1110 is converted to hexadecimal number, the hexadecimal number
will be

(@) G (b) D (c) E (d) F

The torque-speed characteristics of a repulsion motor resembles the characteristics of the
following :

(a) Separately excited DC motor (b) DC shunt motor

(c) DC series motor (d) DC compound motor

Which material is used for construction of core of electrical machines ?

(a) Copper (b) Copper alloy (c) Silicon steel (d) Mild steel
A synchronous motor can operate at

(a) lagging power factor (b) leading power factor

(c) unity power factor (d) All of these are correct.

The motor used in household refrigerator is

(a) D.C. series motor (b) D.C. shunt motor

(¢c) Universal motor (d) Single phase induction motor

A domestic installation having fifteen 60 watts lamps is operated as

5 lamps from 6.00 p.m. to 8.00 p.m.

10 lamps from 8.00 p.m. to 10.00 p.m.

6 lamps from 10.00 p.m. to 12.00 midnight.

The daily load factor will be

(a) 15% (b) 155% (c) 17.5% (d) 12%

Series-A 4 - JEE_H



14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

e U & N |1 It T YR R § 7

(a) IS (b) qieH (c) FAre (d) ‘hREAT 3T o
fomifea sifehm = for, famifes grer <t BT =nfew

(a) TE IR S T&T TR H 2 | (b) &I TS 6t Tgfd i 1/3

(c) T& T h 3Tgfd i 2/3 (d) 1E i 3mafa

U 1o H HIUROTG: ST ohl 908 ITART H ¢ ST &

(a) 10 kHz ¥ 100 kHz (b) 100 kHz ¥ 1 MHz

(c) 10 MHz ¥ 40 MHz (d) 1 MHz¥ 10 MHz

et TR H SR IR w1 ST el &

(a) fofms i@ (b) %graﬂam%@ (©) %gw%%@ (d) (b)F (c)THTTEIE |
Teh L-R afme & 3 O gfalier 377 1.2 H Wehedl B, 1 9 fORTe 1 49 8T

(a) 4.8 sec. (b) 48 sec. (c) 0.4 sec. (d) 0.2 sec.
Teh Wehed W o8 oy favg o M=) e (T fufay) o, o8 sgagr om

(a) dleedl Hid i & (b) &R HId 6 TE

(c) &g (ufa) afay i ag (d) Ga1aiay

Ife STETH TREAT 1110 ! ZFETSEmet T H uiefdd fopam STdm 2, a1 sdeTs bmet Tt gt
a) G (b) D () E d) F

o Hiet <1 Sareei-ifa srfiremefores fe et < stfiremerfores & fireran 2 :

(a) HUEe A fg.ar. A (b) THR shHeg (Shunt) fg.&1. AT
(c) 2oft shmeg fg.am. d@rex (d) T3S fe e, "t

fergga Tl 61 SR b1 & Ugref 1 ST BIaT 8 7

(a) U (b) HIR TA (c) Taferenit ©a (d) HTEes &id
qedhil HIeX ST T 8

(a) TRITH STferd TOTTeh TR (b) STIRTIE STferd TUTTeh TR

(c) Tehd Sfad TOTTeh T (d) Trafiad g |

TT] ThISEt H S-INT § g arefl Hiet &

(a) 4. Fofi AT (b) S IR (¢) IfHEET W (d) THTet St SOt Hiex
Teh BT $ATTH H 60 I h 15 o179 T TohR & SR H 3110 &

5T | 6.00 T 8.00 S b

10 7 TR 8.00 | 10.00 S b

6 T | 10.00 ¥ TEF 12.00 &1 dh

2f3eh T TpuTTeR B |

(a) 15% (b) 15.5% (©) 17.5% (d) 12%

JEE-II ' 5 Series-A



26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

The value of current, I for the circuit shown in the figure :

30Q
>
+
= 120 volt 150 X
(a) 2A (b) 4 A (c) 8A (d 6A
Low grade fuels have
(a) low ash content (b) low calorific value
(c) low carbon content (d) low moisture content

Which variety of coal has lowest calorific value ?
(a) Lignite (b) Bituminous coal (c) Anthracite (d) Steam coal

A generating station has a maximum demand of 1000 MW. The annual load factor is 75%
and plant capacity factor is 60%. The reserve capacity is —

(a) 750 MW (b) 250 MW (c) 1.25 MW (d) 1000 MW
A Buffer amplifier has a gain of .

(a) infinity (b) zero

(c) unity (d) depends upon circuit parameters

Bolometers are used for measuring

(a) Electrical signals (b) Thermal radiations
(c) Optical inputs (d) None of these
Transducer for measurement of rotational displacement is

(a) Shaft recorder (b) Differential capacitor
(c) LVDT (d) Strain gauge

Which of the following pressure transducer is suitable for measurement of high pressure ?
(a) Alphatron (b) McLeod gauge  (c) Pirani gauge (d) Bourdon gauge

A variable reluctance type tachometer has 60 rotor teeth. The counter records 3600 counts
per sec. The speed in rpm is

(a) 1800 (b) 3600 (c) 60 (d) 180
Which temperature transducer is most accurate ?
(a) Thermocouple (b) R.T.D. (¢) Thermistor (d) IC sensor
The instrument used to measure 100 MQ resistance is
(a) Ohmmeter (b) Multimeter (c) Megger (d) V.T.V.M.
The resolution of a digital voltmeter with 4 digit display is

1 1 1 1
@ ®) Too0 © 10000 @ Too
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A 3-phase, 6 pole, 50 Hz induction motor is running at 5% slip. What is the speed of the
motor ?

(a) 850 rpm (b) 900 rpm (¢) 950 rpm (d) 1000 rpm

Under no-load condition, a salient pole synchronous motor is running with normal
excitation. If excitation of this motor is reduced to zero

(a) it will work as an induction motor. (b) it will work as a reluctance motor.

(c) it will work as a synchronous motor. (d) the motor will stop.

Which of the following motor is most suitable for a computer printer drive ?
(a) Reluctance motor (b) Hysteresis motor
(¢) Shaded pole motor (d) Stepper motor

A 1.8° step, 2-phase bipolar stepper motor has stepping rate of 100 step/sec. The rotational
speed of the motor is

(a) 15 rpm (b) 30 rpm (c) 60 rpm (d) 45 rpm
In a hysteresis motor the rotor core must have high
(a) Retentivity (b) Resistivity (c) Susceptibility (d) None of these

At starting, the per unit slip of three phase induction motor is
(a) zero (b) 0.1 (c) 1.0 (d) infinity

If the full load speed of a 6-pole, 50 Hz induction motor is 950 rpm, then motor speed at half
full load would be approximately equal to

(a) 475 rpm (b) 950 rpm (¢) 500 rpm (d) 975 rpm

The main advantage of distributed winding in a rotating machine is

(a) to reduce the size of machine. (b) to enhance generated voltage.

(c) to reduce copper loss. (d) to reduce harmonics in generated emf.

In a salient pole synchronous motor, the developed reluctance torque attains maximum value
when the load angle in electrical degree is

(a) 0° (b) 45° (c) 60° (d) 90°

A 4-pole star connected alternator running at 1500 rpm has 72 slots with 10 conductors per
slot. The number of turns per phase and slot angle are respectively.

(a) 120 turns and 20° (b) 100 turns and 10°

(c) 120 turns and 10° (d) 100 turns and 20°

To eliminate 5™ harmonic voltage from the phase voltage of an alternator, the coil should be
short pitched by an electrical angle of

(a) 30° (b) 36° (c) 72° (d) 18°
Frequency of current in the rotor of a 3-phase induction is equal to

(a) supply frequency (b) less than supply frequency
(c) slip time supply frequency (d) slip/supply frequency
Induction machine with negative slip acts as

(a) an induction motor. (b) a reluctance motor.

(c) an induction generator. (d) asynchronous motor.
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51. For a P-pole electrical machine, the relation between electrical and mechanical degrees is

2 4 P
(@ 6,=50, (b) 6,=50,, (c) 6,=6, (d 6,=56,
52. In a dc machine, the field flux axis and armature flux axis are respectively along
(a) direct axis and quadrature axis. (b) quadrature axis and direct axis.
(c) Both along direct axis. (d) Both along quadrature axis.

53. In case of an induction motor, which expression is correct ?
(@) N.=N/(1-S) (b) N,=N(1-5S) (©) Ng=N(1+8) (d N, =2-N{

54. The V-curve of a synchronous motor is a plot between
(a) field current and field voltage (b) armature current and armature voltage
(c) field current and armature current (d) field voltage and armature voltage

55. An induction motor operates in braking (plugging) mode when
(a) slip(S)>1 (b) slip(S)<0 (c) slip (S) = zero (d) O0<slip<l
56. The rotor of a stepper motor has

(a) Nowindings (b) No commutator (c) No brushes (d) All of these

57. A 3-phase induction motor is operating at a slip, S. If the two supply leads are interchanged,
then its slip at that instant will be

(a) 2-S (b) 2+S (¢) 1+S (d 1-S
58. AC servomotor is basically a

(a) Universal motor (b) Capacitor motor

(c) 2-phase induction motor (d) 3-phase induction motor

59. The per unit value of a 4 Q resistor at 100 MVA base current and 10 kVA base voltage is
(a) 2.0p.u. (b) 4.0 p.u. (c) 0.4p.u. (d) 0.004 p.u.

60. A 10kVA, 400 V/200 V single phase transformer with 10% impedance draws a steady short
circuit current of

(a) 50A (b) 150 A (c) 250 A (d) 350 A
61. The positive sequence current of a transmission line is
(a) always zero (b) 1/3 of negative sequence current
(c) equal to negative sequence current (d) 3 times of negative sequence current

62. The percentage bias for generator protection for a differential relay lies between

(a) S5to 10 (b) 20to 15 (c) 15t020 (d) 20to 25
63. The capacitor switching is easily done with

(a) Air blast circuit breaker (b) Oil circuit breaker

(c) Air circuit breaker (d) Vacuum circuit breaker
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(a) &7 (Field) 910 Ug &7 fava (b) IATH=R &R UF 3R fava

(c) & 9T U IATH=R €T (d) &= fava wg IR favg

Teh I WIS SifehtT (SAfin) forerm (Aie) o e it & 9

@ fem©)>1 (b Fu(©)<o () @)= (d) o<femm<1

Teh WU HIeT o e H
(a) IS TS TEI BT B | (b) I FRA TR BT R |
(c) TS ST &I BIaT % | (d) =g ot

T ForererT-3wor Aiex oo, S W nifem 8 | afe Wt o 2 et <l 319d o et € i 39 &,
e =1 9 B

(@) 2-S (b) 2+S (c) 1+8S d 1-5S

(a) IfaEa AR (b) e AT

(c) Tgepett (2-%sT) TTUT AT (d) Trepet (3-%hst) IOt Hiet

100 MVA YR &R T& 10 kVA 3TER fava w1, 4 Q gfefier <1 3fd 318 09 8

(a) 2.0 p.u. (b) 4.0 p.u. (c) 0.4 p.u. (d) 0.004 p.u.

T 10 kVA, 400 V/200 V Th-het 13 Zabiat frgshl gfeamem 10% & 77 feor o7y uftaefi am
AT

(a) 50 A (b) 150 A (c) 250 A (d) 350 A
YREYT (STETHIM) S8 1 G- sHH &1 8

(a) BHM I (b) UTICH ShH 9T T 1/3

(c) FRUTTcHS ShH ST & SIeK (d) RUTICHeh $HH 9T 1 3T

T fedplmret ot § Se guan 3 ford wferera s ot 3 & 3

(@) 5910 (b) 20T 15 (c) 15820 (d) 20825
HEfet shi Tt foheeh grT STET & 61 STt § 7

(a) T AR Ffehe St (b) 3ATSA Hfehe it

(c) TR e Fet (d) FH Hiche iRt
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64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

The Rate of Rise of Restriking Voltage (RRRV) depends upon

(a) Type of circuit breaker (b) Inductance of the system only
(c) Capacitance of the system only (d) Inductance and capacitance of the system
The Buchholz relay protects a transformer from

(a) All types of internal faults (b) Winding to earth fault only
(c) Inter-turn faults only (d) External faults

The relay, which is most affected by “arc resistance”

(a) Buchholz relay (b) Impedance relay

(c) Reactance relay (d) Differential relay

The unit protection scheme provides

(a) Primary protection only (b) Back-up protection only

(c) Simultaneous protection (d) Remote protection

Infinite bus bar has

(a) constant voltage (b) constant current

(c) constant frequency (d) constant voltage and constant frequency both
Which of the following equipment is not installed in a sub-station ?

(a) Shunt reactor (b) Exciter

(c) Voltage transformer (d) Capacitor

A distance relay measures

(a) Difference in voltage (b) Difference in phase

(c) Difference in impedance (d) Difference in distance

In HRC fuse, the time between cut-off and final current zero is called

(a) Pre-arcing time (b) Arcing time

(c) Total operating time (d) None of these

According to fuse law, the current carrying capacity of fuse is proportional to
(a) diameter of fuse (b) (diameter of fuse)>?

1
() diameter of fuse

(¢) (diameter of fuse)!’?

The rating of fuse wire is always expressed in

(a) Voltage and current (b) Amperes

(¢) Volt-Ampere (d) Ampere-hour

Earth wires are made of

(a) Copper (b) Aluminium

(c) Iron (d) Galvanized stranded steel wire

The safety of electrical appliances and wiring is ensured by
(a) Insulation

(b) Earthing

(c) Providing fuse wire in the electrical circuit

(d) All of these

MCB stands for
(a) Main Circuit Board (b) Main Circuit Breaker
(c¢) Miniature Circuit Breaker (d) None of these
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64. T-TTsfhT Seest & g shi ot Fs +Edt &

(a) Tfhe FhT o ThR W (b) HaeT YUTTeAt o SRehedl T

(c) had JuITelt o TETREr T (d) JuTTeft < Jehed Td TG 9T
65. Tehgles ol BIHT Sl S8 Gufard ohid! 8

(a) Tt THR & AT gl (b) had ATEET & Y TN I

(c) FIA I H AT H T Y (d) sEdewd

66. 37T TTeRIY” 3 0T S 91 et Ted 31ferep gaifed 2t & ?
(a) hales @ (b) s7iew fet (c) Twads f (d) fewRre for
67. (T TREAT FSHT HA 7 |

(a) hacT TR FaT (b) haTT eh-3TT FLETT
(c) TEehIIcTsh L& (d) Tore gean
68. Tsh = && S I BT &
(a) T fave (b) T=ra am
(c) Fa smafd (d) T fove wa faa smafa gl

69. T T ¥ I 91 IUHT0 Fo-EIE T TATIUd 2T fohan Sran @ 7

(a) e fueet (b) TS (3T9h) (c) fawa g@®IR  (d) genfe
70. U fewig Tt At 2

(a) TE@H 3R (b) el H A=K (c) Whemand =R’ (d) gl H I=<X
71. HRC WIS §, ohe- 31t 3R tfm oy 1 % off & T0a <l e &

(a) Tr-anfdmoma (b) snfdmam (c) FATIAAT TR (d) 3§79 & IS T
72. WS R % FER, TS H U0 YaTiEd g ol &7l ST gl 8

(a) RIS IR % AT (b) (RIS IRR  =1H)>2
1
() P o 5 o7

(c) (RIS IRR & =) 12
73. WS S <l A B g 8

(a) Tl Ud g H (b) W A (c) dice TrfRR A (d) TR e Y
74. S-SRI AT BT B

(a) AT (b) TegmFEm R

(c) EH (d) STEfTehd TWUes Wid IR |
75. ST IUHLUI I AT < L& o GHTTad hid & FH & gl

() G (b) 3t

¢) @ rfug i RF IR M (d) I8 weft

76. MCB 3 tar 8
(a) THEfheTE  (b) T AR (c) Tafw=R Afhe o (d) 3 @ H1E TE
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77.

78.

79.

80.

81.

82.

83.

84.

8s.

86.

87.

What should be the value of resistor R in resistance switching for critically damped
restriking voltage ?

(a) R>%\/% (b) R=%\/% (c) R<A[LC (d) Rz%\/L_c

What is the effect of welding equipments on power factor ?

(a) Power factor increases. (b) Power factor decreases.

(c) Power factor does not change. (d) Both current drawn and power factor increase.
In ring main distribution system, a distributor is fed

(a) by one feeder (b) by two feeders

(c) by four feeders (d) at different points of the feeder

In village, most commonly used distribution system is

(a) Parallel system (b) Mesh system (c) Ring system (d) Radial system
Reactance relay is normally used for the protection of

(a) Long transmission line (b) Medium transmission line

(c) Short transmission line (d) All types of lines

If the fault current is 2000 A, relay setting is 50 % and CT ratio is 400/5 A, then Plug Setting
Multiplier (PSM) will be
(a) 25 (b) 10 (c) 15 (d) 50

The maximum power (watts) that a 12 V DC source with an internal resistance of 3 Q can
supply to an external resistive load

(a) 12 watts (b) 36 watts (c) 48 watts (d) 72 watts
The voltage across the terminal AB in the circuit shown is
°A
SV 10 Q
10 A CP T 15V
oB
(a) 10V (b) 5V (c) 15V (d 20V
The value of current in 6 Q resistor is
16V
AN 1
50
62V 603 C’I‘ 4 A
(a) 2A (b) 4A (c) 6A (d) 52A
The superposition theorem cannot be applied to a linear circuit to determine
(a) voltage (b) power (c) current (d) Both (a) and (c)
Thevenin’s theorem can be applied to a circuit having
(1) Independent source (i) Linear elements
(ii1) Unilateral elements (iv) Bilateral elements

(a) (i) and(iii)  (b) (i), (i) and (ii))  (c) (i), (ii)and (iv) (d) None of these
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77.

78.

79.

80.

81.

82.

83.

84.

8s.

86.

87.

gferiy featem & shifeies €9 & Srag fagrsfeh diees g Jfalig R &1 0H gl

(a) R>%\/% (b) R=%\/% (¢) R<A/LC (d) Rz%\/L_c
AT IUHTT o1 VTferd TUTTeh IR AT THTE BIAT & 7

(a) ekl TUTTeh el @ | (b) e IR TeATE | .

(c) IferT ToTTeh Tl SIeerT 2 | (d) =it T3 g we wife Tk ST Sed § |

o1 o foraon sorett 5 we forates w1 STl B @ .

(a) T BIETGA (b) SISt 5T .

(c) =R HIEl g (d) et forfi= forgati @

T | T : 3T S ST aref} ferawor goreft 2

(a) TR YOIl (b) 1 Jomeft (c) Tar omeft (d) eget (wdir) Jomett
Trward=a Tt Tnamora: et <6t geedt < fort ot feka S 2

(a) Tl E=Tor A8 | (b) TEIH TEROT ATSH

(c) B T= A (d) Tfi TR AT

If¢ Hice 9™ 2000 A 7, Tt AT 50% & a2 @38, 39 400/5 A, @ & diT o

(PSM) &I
(a) 25 (b) 10 (c) 15 (d) 50

Teh 12 V o1 fe® am1 &4 (source) Torent 3t gfotier 3 Q 8 98 sTedl (External) Ifa0ie MR
! AT 1 wifed Jed L Ehar 3

(a) 129 (b) 3691 (c) 489 (d) 729w
form 7 femame e aftuy # fag A 92n B & o= fawa 2
oA
SVJ_ $100
10A$ .|_15v .
(@) 10V (b) 5V (c) 15V (d) 20V
6 Q) JfeRiY H &R <1 AT 8T
|16V
s ¢
62 V== 69%1, CT 4 A
(a) 2A (b) 4A (c) 6A d) 52 A
FUTAITSTS SH 3T ITANT Ueh W& G H =1 <6t 70T o6 foTu T8 o Hehdl &
(a) ferrr (b) wIfefd (4TeR) (c) @ (d) (a) W (c) T
AT THT 1 UH TR T & Hehd & o &l
(i) @ €@ (source) (i) & ATTa
(iii) IFereTet 3T (iv) STE-IeA 3T

(@) (i) @ (i) ) @), ()W (i) (o) (), ()W (GEv)  (d) FTHABE T
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88.

89.

A network consists of only independent current sources and resistors. If the value of all
current sources are doubled, then voltage at any node will

(a) remain the same (b) be doubled

(c) be halved (d) be one-fourth

In a synchronous motor damper winding is used to
(a) stabilize rotor speed only.

(b) suppress rotor oscillation only.

(c) develop necessary starting torque only.

(d) Both (b) and (c) are correct.

90. In the given circuit, the current I, as shown, will be
ANAN
10 Q2
V= 102 @pa 10037
(2) (d) +3.67 A
91. The
: [
0V Msa 310
(a) (d) 20 A
92. Intl e value and Norton’s equivalent
resis
A AN ®
24 Q
_+_
20V = 2A
ob
(a) Q (d) 2A,48Q
93. Inth maximum power transfer into it ?
5Q 4Q
AN AN
25V 20Q 3A g R
(a) (d) 120
94. Pote
10Q 200
12V = 20 Q
(a) 4V (b) 8V (c) 6V d) 3V
ooy e e



88.

89.

90.

91.

92.

93.

94.

T IRUY H had WA= 91 A1d SR Tiad g | Ife a4 9r1 |l o1 99 S-TH1 HL S al Tl
g W fava 1AM

(a) Moo ad war g | (b) STHT ISR |

(c) SMA@E | (d) TSh—<S Bl M@ |

Teh Joehlell TIeT H 3gu=geh dT3f-eT 1 6T 8

(a) “hael UL Tfd =l TR T |

(b) I U Qe I 3TaTEG BT |

(c) haeT STTEYh TRICNH ST Icu=T HET |

(d) (b) T (c) THI HE & |

fea T iy #, s ft aw 1 2eft
10V — 0o Diga 1003
(a) \ (d) +3.67A
fea
ll
10\%_— Msa }QQ
(a) \ (d 20A
& T 3R ATEA o IToie o &l 2
%
20V 2A
ob
(a) \,24Q (d) -2 A, 480
TOF > forr wferlier R o1 < o B 2
50 40
AAAA" ANNN
25V %20@ O SR
(a) @ 120
fea p) BT
LY Al B
12V—/ #20&1
(a) 4V (b) 8V (c) 6V d 3V
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9s.

96.

97.

98.

99.

100.

101.

The value of I, in the given circuit is

20A
i Iy 1, I
10 Q 10 Q
(a) 0A (b) 10A (c) 20A d SA
The condition for maximum power transfer in an AC circuit to a load impedance Z; is
*
(@ Z, =27 (b) Z, =-Z () Z, =7y (d R =Ry

Find Thevenin’s voltage V,, and equivalent resistance (R, ) respectively across the terminal
aand b

0a

M10a 3300 M10A 3300 MD10A 3300

°h
(a) 90V,10Q (b) 300V,20Q () 90V,90Q (d) 300V,10Q
Current I in the given circuit is
6Q
AN
6Q 6Q 6 Q)
AT AA—LANA
A AAA
/\I 6 Q
[ |
+] 1=
12V
(a) 2 Amp (b) 1 Amp (c) 4 Amp (d) 3 Amp
The value of V_ in the given circuit is
Vi
AV $
50

10V = 50 C’T‘ 5A
(a) 7.5V (b) 175V (c) 35V (d) 15V
Which law is applied for Nodal analysis ?
(a) Norton’s theorem (b) Kirchhoff’s current law
(¢) Thevenin’s theorem (d) None of these
In an oscilloscope screen, linear sweep is applied at the
(a) Vertical axis (b) Horizontal axis
(c) Origin (d) Both horizontal and vertical axes

. Lissajous pattern obtained on the screen of CRO can be used to determine

(a) Phase shift (b) Voltage amplitude (¢) Amplitude distortion (d) None of these
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95. e 3 uftwe § 1, %1 WA B

20 A
i Iy v I
10 Q) 10Q
(a) 0A (b) 10 A (c) 20 A d) 5A
96. ScATeId! AR TR H Teh WIS gfied 7, H Jfershan wferd TT=0l < fordl ferae @
(a) Z, =Z, (b) Z, =Z, © Z,=7Z (d) R =R,

97. W%lv_g: (terminal) a T b o &= YA e Vi HW@WE’%’?&T Rgfmﬂﬂm: Rl

M10a 3300 M10A 3300 MD10A 3300

oh
(a) 90V,10Q  (b) 300V, 20Q () 90V, 90 Q (d) 300V, 100

98. fAIMR Ul T YIH aH 2
60

AAAAY:

60 60 | 6O

AT AMAA— AN

ANV

I 6Q

| |
+| -

12V
(a) 2 Amp (b) 1 Amp (c) 4 Amp (d) 3 Amp

99. e uftwe o v, 1w g

Vi
AN *

50

10V 50 Msa

(a) 7.5V (b) 17.5V (c) 35V d) 15V
100. eeT fI9eiNuT (Analysis) % for@ @ & f=m 1 y@m fpan s g 7
(a) A T (b) foreET® g i (c) 9= v (d) 379 | IS T

101. Tsh AR ThiF 1 [ Y sl R 141 8

(a) HETER 31T T (b) &fas T |

(¢) T (Origin) T (d) FHEaTeR 3R & HT 18 W
102. T CRO SHIF O U foreTs] U o1 U= 3t bl 57 shad | feham it &bt &

(a) Wt T3 (et afterd) (b) e TRATTTE

(c) Treiege H fospf (d) T8 T B Tl
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103. A dual trace CRO has
(a) one electron gun
(b) two electron gun
(c) one electron gun and one two-pole switch
(d) two electron gun and two pole switch

104. The highly sensitive controller to noise is

(a) PI (b) PD (c) Pland PD both  (d) PID

105. Which of the following is higher in a closed loop system compared to open loop system ?
(a) Speed (b) Frequency (c) Bandwidth (d) Gain

106. Which of the following is not used in automatic control system ?
(a) Sensor (b) Oscillator (c) Error detector (d) Control element

107. The function of “input module” in PLC is to
(a) store program.
(b) provide interface between sensor and CPU.
(c) provide interface between CPU and actuator.
(d) provide power to PLC.

108. Memory section of a PLC has

(a) CMOS RAM only (b) EPROM only
(c) EEPROM only (d) All of these
109. To measure temperature in the range of 3000 °C, the sensor used is
(a) RTD (b) Thermistor (¢) Thermocouple (d) Pyrometer

110. A platinum resistance thermometer has a resistance of 100 Q at 25 °C. The resistance
temperature co-efficient of platinum is 0.00392 Q/°C. At 50 °C, its resistance is

(a) 91.2Q (b) 109.8Q (c) 119.6 Q (d) 81.4Q

111. A Linear Variable Differential Transformer (LVDT) is
(a) adisplacement transducer. (b) an impedance matching transformer
(c) a differential temperature sensor. (d) an auto transformer

112. Liquid flow rate is measured using
(a) A Pirani gauge (b) A pyrometer (¢) Anorifice plate (d) A Bourdon tube

113. Semiconductor strain gauge has the property of

(a) excellent hysteresis characteristics (b) high gauge factor

(c) piezo-resistivity (d) All of these
114. A null type recorder uses

(a) Potentiometer (b) Ammeter (c) Amplifier (d) Capacitor
115. A Megger is used for the measurement of

(a) Low resistance (b) Medium resistance

(c) Insulation resistance (d) All of these
116. The controlling torque in a Megger is provided by

(a) Spring (b) Weight (Gravity)

(¢) Liquid friction (d) Combined action of two voltage coils
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103. Qeﬁaﬁiﬂfﬁ'@m(Dual trace) CRO T g e

(2) Toh goeRH TH ORESEHERE

(c) Th SoiehgH TH AR Th fg-uied feersr (d) &1 soierg T AR -t fearet
104. X Ufd AT Gag3fiict SheleR Biar 2

(a) PI (b) PD (c) PITGPDEHI  (d) PID
105. 378 B W @1 3N o foreew 1 g 3 s o freed 3§ Saey gran @

(a) Tfd (b) I (c) svefrga (d) ™
106. 30 O 9 91 & =7 worredt 1w 8 2rar & ?

(a) HE (b) AT (Gh) (o) Ffe feewe (d) et e
107. PLC ¥ “TY HIgI” 1 1 §

(a) ST T TR T | (b) HER TG CPU o &5 39eThY T |

(c) CPU Ud THU o A SWTHH AT | (d) PLC I e &7 |
108. PLC % B0 9eH § 811 8

(a) ad CMOS RAM (b) sad EPROM
(c) %ad EEPROM (d) I8 a4t

109. 3000 °C o qMIH AT b1 A9 o o1 T fomdl ST et dER 8
(a) Sl amom feeaet (b) wffET
(c) UHIHTEA (d) "rERIfeT

110. Tk ifeay Ifatier LaTeiet s 25 °C T Tfalig 100 Q & | WifeAq 1 Yoty aoa femies
0.00392 ©Q/°C. 3 | 50 °C U 35ehT Uferier I

(a) 9120 (b) 109.8 O (c) 119.6 Q (d) 81.40Q
111. T W& afied! fadd ufonfis (LvDT) 2

(a) Teh TEATo qrerdeh (b) T Ut ufe ufwmnfis

(c) e faerd} amawe e (d) Tsh Tufonfis

112. 34 (Liquid) S&Td T 1 A9 o ot i ohid @
(a) T U AUk (b) ek URRIHTEX (c) Th AMPA TR (d) T sied el

113. Sfiehugae forshd AUk o 70T €1 &

(a) 3w Tt o (b) I TSl oTTeh
(c) en-gferierehar (d) Ig aft
114. T 3TISY TR % Nepiet § T BT 8
(a) Tavyammd (b) ST (JHT)  (c) TPRIBRR (d) TuTie (FHafeR)

115. AR =M = S qa d fra Sar &
(a) T ufamea (b)) dem afaQy (c) THH Iflig  (d) g |t
116. BR ¥ e et fea smar &

(a) f8ma (b) WR (Teemhdo) &
(c) 5auvu & (d) < Aees Heferal < G FshaT R
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117. A DC voltage of 1.0 V is applied to the X-plate of CRO and an AC voltage of 2 sin 100 t is
applied to Y-plate. The display on CRO screen will be
(a) Vertical straight line (b) Horizontal straight line
(c) Slanted line (d) Sine wave form

118. The Laplace transform of a unit ramp function is
1 1 1
(@) S (b) g © @

119. For the network given below, what is transfer function ?
C

f

Vi R Vo
1 RC s RC
@ TTRCs (®) T+ RCs (©) RCs+1 ) T+RCs
120. The closed loop gain of the system shown below is
R
© S > C(s)
1 ],
4 -
4 3
(@ —3 (b) 4 (c) 4 (d —%
121. Energy consumed by a heater of rating 1000 watts by operating it for a period of 2 hours will be
(a) 1 unit (b) 2 units (c) 2000 units (d) 4 units
122. The type-2 control system has
(a) no poles at the origin (b) one pole at the origin
(c) two poles at the origin (d) three poles at the origin

123. Which of the following is not an active transducer ?
(a) LVDT (b) Thermocouple (c) Piezo-electric (d) Photovoltaic cell

124. The resistance of 125 Q strain gauge changes 1 Q for 4000 micro-strain. The gauge factor
for strain gauge is
(a) 1.5 (b) 2.0 (c) 2.5 (d) 3.0

125. Tachometers are used for
(a) angular speed measurement only.
(b) linear speed measurement only.
(c) both angular and linear speed measurement.
(d) None of these

126. The dynamic characteristics of capacitive transducers are similar to those of
(a) High pass filter (b) Low pass filter ~ (c) Band stop filter  (d) Notch filter

127. Dummy strain gauge are used for
(a) calibration of strain gauge. (b) compensation for temperature changes.
(c) compensation for expansion. (d) increasing the sensitivity of the bridge.
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117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

127.

fopeft CRO <hl X=ie W 1.0 V <hl fe. o1, dieedT 9T Y-54€ W 2 sin 100 t Volt ST Semerdt &
leed] T T8 & | CRO 1 Shi 7€ fe@rs am

(a) GEITE W@ (b) e () s (d) SIATEBHIT TR
3hTS 10T ot Shl AT ZEhIH BidT &

1 1 1
(@) S (b) g © )

e T gl w1 ST ReH | R ?

@ (©) RCs+1 @ TrRes
@‘R(
) :{% (2] >C(s)
d L
b
@ -3 ) ~4 ©) 4 @ -3

Teh B hI AT 1000 912 2 | 38 2 50 JAT H T W fehel Sl @ud Brft ?
(@) 13+ (b) 2 qfE (c) 2000 IfeE (d) 4qfeE
T159—2 ATt Toreror yorred 3 B &

(a) S W BT off I Tl (b) T W 91

(c) A W drd (d) 7 WA a1

=1 4 8 e o afoha e AE | 7

(a) USSR (b) YHTHIA (c) HeTzafaes (d) BRIEEH A

125 Q Yfeier aTel T ST | 4000 ATSehReA o T 1 Q o1 IR Bar 8, a & IS o1
el BT

(a) 1.5 (b) 2.0 (c) 2.5 (d) 3.0
SohIHICT S BT &
(a) haet IV TTfd A9 H OEESECIERIGRICER:]

(c) B Maa I Mg s A= d  (d) 379 ° IS Tl
U TASIER 1 i SR foheeh FHM gla1 § ?

(a) 3= UM fheat s (b) = ura fheet

(c) 8w fheeth (d) 7t fheeth

oY T Tt 1 fordt foTu ST e € 7

(a) T IS % hicTsiyH o feTw (b) ATHYH Sgera ht arfagfd & ferg
(c) Warra <ht afagfe < ferg (d) oo <61 ganfear sgm & forg
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128. The tower footing resistance of a transmission tower should be
(a) as high as possible (b) aslow as possible
(c) moderately high (d) moderately low

129. An isolator is used for
(a) breaking abnormal current
(b) making under fault current
(c) breaking the circuit under no load condition
(d) None of these

130. The diesel and gas turbine units are more suitable for

(a) Peak load (b) Base load

(c) Intermediate load (d) Both peak and base load
131. The mean daily solar radiation at many places in India is about

(a) 100 kWh/m? (b) 5kWh/m? (c) 20 kWh/m? (d) 1.0 kWh/m?2
132. The function of control rods in a nuclear reactor is

(a) control of nuclear fission rate (b) control of radiation hazards

(c) control of moderator material (d) All of these

133. Graphite is used in nuclear power plant as
(a) Fuel (b) Coolant (c) Moderator (d) Electrode

134. Which of the following is not a transducer ?
(a) Strain gauge (b) Autotransformer (c) Potentiometer (d) Thermocouple

135. The cooling of large electrical machines is done by
(a) flowing water through hollow tubes.
(b) flowing hydrogen through hollow tubes.
(¢c) (a) and (b) both
(d) flowing nitrogen through hollow tubes.

136. Armature winding is one in which working
(a) flux is produced by field current.
(b) flux is produced by the working e.m.f.
(¢) e.m.f. is produced by the working flux.
(d) e.m.f. is produced by the leakage flux.

137. Which of the following test is performed on insulation ?

(a) Design test (b) Performance test (c) Routine test (d) All of these
138. Material used for making insulator is
(a) only porcelain (b) only glass (c) only cement (d) (a) and (b)
139. Which of the following equipment is used for testing of electrical machines and equipments ?
(a) only Megger (b) only Earth tester (c) only CT (d) (a) and (b)
140. The slots of squirrel cage induction motor are skewed to
(a) minimize cogging (b) reduce humming sound
(c) (a)and (b) (d) None of these
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128. TRNUT TR <hT e BT Sferier it 8

(a) ATerehay FrTlerd (b) =T TR
ORISR (d) UreTHA

129. T TR YA H BT 3
(a) STETHTI T < Sieh i 2 (b) T T < g H HfHT 2

(c) T W h Feufe § uftge 61 5 v B (d) 570 8 1S &
130. SIS AT T TETE ShI9AT H(Uh 3R &

(a) e R ford (b) YR YR & fo72r

(c) TEH YR for (d) TImER qem 3MaR YR gHT & for
131. YA T g LI W efHeh 3T T AT (SIfehTor T &

(a) 100 kWh/m? (b) 5kWh/m? (c) 20 kWh/m? (d) 1.0 kWh/m?2

132. foerr fuaet # frmv s w1 %E 7
(a) TR fo@ea H @l FaBa @ | (b) Tafertor o @adl o1 &0 & |
(c) TE®h (moderator) veref = FEfa e | (d) I8 g+t
133. UHISE T YA TR S1fekd =1 | BT § Th
(a) NHITE  (b) MAABHITE  (c) b hl W& (d) SIS i &
134, 38 B BN A1 ISR AR B 7
(a) Topfdames  (b) @W-aRomf= (c) Tavemmd (d) RIS
135. St foregd Hiet # S foha Siam &
(a) @rEeft Afetht3ti 4 ul JaTfgd ik | (b) @igett Afetshl3Tl § BIggie JaTfad ish |
(c) M (a) Td (b) gRT (d) GrEeft AferhT3tl § A3 YaTEd sieh |

136. 3THR SIEFET H hRAd

(a) FTod Hleg TR g Sca—T {3l ST & |
(b) Ferad afehT fo.a1.9. gRT S fepam T 2 |

(c) Ta.an.9. afdm vt grr o= fopam ST 2 |
(d) Ta.an.9. <fiors woTe gRT a1 fohaT AT 2 |

137. $goieH R § 9 fore wohR o1 aieqon fepam ST 8 ¢

ORESIERRT (b) Treares wderor
(c) T () udiequr (d) Iz &+t

138. I ! §M H ITIN § g ITel1 91l &

(a) A WHSH  (b) haet T (c) hacl HHUE (d) (a)Td (b)
139. T=faRaa o @ 1 o1 Ukt foeyd AefiAi o IHehTl o W § Iu=HT § ST & 7

(a) Hael AR (b) e Y-T&H () hadt HI.A. (d) (a) T (b)
140. T UK} T ST AIT o TACH i st S 1 HRUT 3

(a) HIAT Bl HH HET (b) BT TSV HH HET

(©) (a)Td (b) (d) T § g T
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141. For low voltage high current d.c. motor, the suitable winding is

(a) wave winding (b) lap winding

(c) short pitch winding (d) None of these
142. If phase sequence of a stator connection of a three phase induction motor is reversed then

(a) no effect on induction motor (b) motor stops

(c) motor gets hot (d) motor rotates in reverse direction
143. Ground wire is coloured as

(a) Green (b) Red (c) Black (d) Brown
144. Earthing brings the potential of the body of an equipment to

(a) zero (b) equal to phase voltage

(c) equal to line voltage (d) equal to equipment rated voltage
145. Which of the following is not the type of earthing ?

(a) Pipe earthing (b) Plane earthing

(¢) Rod earthing (d) Strip (wire) earthing

146. Which part of the National Electrical Code SP(30) : 1986 has the information about electrical
installation in industrial building ?

(a) Part-1 (b) Part-2 (c) Part-3 (d) Part-4
147. An SCR has junctions.
(a) 2 (b) 3 (c) 4 (d) 5

148. For an SCR, in forward conduction mode, anode terminal is connected to
terminal of voltage source.

(a) Positive (b) Negative (¢) Ground (d) Neutral
149. A small leakage current in SCR forward conduction mode flows from
(a) Anode to cathode (b) Cathode to anode
(c) Cathode to ground (d) Anode to ground
150. The minimum current in forward conduction mode required to maintain ON state of SCR is
called
(a) Switching current (b) Latching current
(c¢) Holding current (d) No-load current
151. The energy gap between valence and conduction band in insulator is
(a) 0.5eV (b) 5.0eV (c) 210eV (d) o
152. For n-type semiconductors, the doping material is
(a) Tetravalent (b) Pentavalent (c) Trivalent (d) Bivalent
153. The temperature co-efficient of intrinsic semiconductor is
(a) zero (b) positive (c) negative (d) None of these
154. Intrinsic semiconductors have conduction band and valence band.
(a) alightly filled, moderately filled (b) almost filled, moderately filled
(c) almost empty, almost filled (d) almost filled, almost empty

155. In a type-A chopper, the average output voltage is
(a) always less than the input dc voltage. (b) always equal to input dc voltage.
(c) always greater than input dc voltage. (d) None of these
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T 1 dieedr, I 91T e 9T Hiet § 39 FHUSH! hl ThK &
(a) SFAEET  (b) oAU AT (c) W fmamién  (d) T & E TE
e Teh ForehetT Y01 A1 o X hl %ol A hl Ie fean a1 g a

(a) TIOT T WX <13 THTe TRl (b) T & AT & |

(c) HRXTH B A B | (d) HIeX 3T feem o orredl 7 |

T3S IR T T 8T 8

(a) B0 (b) < (c) =hTetl (d) ¥

AR o HROT IYHT0T Sl STt AT favye B @

(a) A (b) W fava o s

(c) oe fava o s (d) IuehTuT <t Tarrer e o aeR

et o @ i a1 31 o TR AR R 2

(a) TS AT (b) T AT OREEICH (d) feu (arr) st
TE forgd e SP(30) : 1986 % Tohd YT & 3T Wari | forgd TomeHT shi STl €1 e & 2
(a) WFT-1 (b) WTI-2 (c) WT-3 (d) WTT-4
THSCRHE  SwHEBECE |

(a) 2 (b) 3 (c) 4 (d 5

Teh SCR & oIl BRaE Ire g H g e dieet Bid s M@ A SJRI BT 7 |
(a) FTCHH (b) T (c) TsE (d) =gt

Teh SCR H HRAE AT HIg § 58 dTed! 37eq ofiehst 9 hi fewm arft
(a) TS T FAE  (b) HUS TS (c) $UTS T URPS (d) TS | U3S

HRAE e HIg H SCR I ON W R TaH o foldl 31mawaieh =IHaH 9T i had &

(a) feafemeamm (b)) AR am (c) BifesT am (d) I YR 9T
FeTeTeh oh TS 3TN ST SUe # Sl 119 Bl 8

(a) 0.5eV (b) 5.0eV (c) 210eV (d) o

n TN & THT-shgaell | SITT Uery 8idT &

(a) gl 9eue (b) Her deiue (c) S sefue (d) T3 Sfeive
A 1T H ATIHH UM BT &

(a) A (b) ©THE (c) T (d) 3TH & IS TE
IS T T T 88 3T LRIEECERICI

(a) S W, TEIH W (b) TR 9 §AT, HEAT 9T g

(c) T WAl T W §3T1 (d) TR ¥ g3, THTHT Wicit

Tsh A-JhT o S0 T 3TEd 8L dleed 8

(a) BHIM STYC fe.an. St A A | (b) BEIM FTYE fe. a1, Fees o TR |

(c) BHIM e e . Seest & 3rfersh | (d) 315 A HE T
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156. The commutation overlap in phase controlled ac to dc converter is due to
(a) Load inductance (b) Harmonics in load current
(c) Switching of converter (d) Source inductance

157. A free-wheeling diode in a phase controlled converter
(a) decreases the possibility of discontinued conduction in load.
(b) increases the possibility of discontinued conduction in load.
(c) reduces the power factor.
(d) improves the power factor.

158. In a dual converter, the circulating current
(a) allows smooth reversal of current but increases response time.
(b) allows smooth reversal of current with improved speed of response.
(c) does not allow smooth reversal of current.
(d) None of these

159. In a 3-¢ controlled bridge rectifier, the maximum conduction of each thyristor is

(a) 60° (b) 90° (c) 120° (d) 150°
160. A four quadrant chopper cannot be operated as

(a) one quadrant chopper (b) cycloconverter

(c) inverter (d) bidirectional rectifier

161. A step down chopper is operated in the continuous conduction mode with a constant duty
ratio D. The ratio of output voltage (V) to input voltage (V,) is given by

1 D
() D (b) (1-D) © 1-D) ORI

162. The frequency of ripple in the output voltage of a three phase controlled bridge rectifier
depends upon
(a) firing angle (b) load inductance  (c) load resistance  (d) supply frequency

163. A cycloconverter is a
(a) frequency converter which has no intermediate dc state.
(b) device which converts ac to dc.
(c) device which converts dc to ac.
(d) None of these

164. In forward conduction mode, an SCR has forward biased junction.
(a) 2 (b) 1 (c) 3 (d) 0
165. A linear displacement transducer (digital) normally uses
(a) Straight binary code (b) BCD code
(c) Gray code (d) Hexadecimal code

166. A CRO uses
(a) Electromagnetic focussing
(b) Electrostatic focussing

(c) Both Electromagnetic and electrostatic focussing
(d) None of these
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et Frrfra weft @ et sheardt § Hrgeee STIeR oY 1 SHRUT BT 8

(a) S Webed (b) S 9T § ERAIH
(c) Hract i feafem (d) HTd Fehed

Teh sl T Sheardt | hi sEifer grie

(a) S T AT 6 GUTEHAT HH HLAT 2 |

(b) TS T AT 61 GEATEAT ! FETaT 2 |

(c) ITferd TUTTeh <! W AT & |

(d) IfeRd TUTTeh T ST B |

Teh GUA Hralcd H TGS 9T

(a) T <1 WY Fada Het g wifer Sfafshan a9 ser 2 |
(b) & o1 T ergiet st & ae wfefshan e ol st <l 2 |
(c) T <! SqY Tradiet T ER e © |

(d) 3T 8w T

Teh 3-¢ FRIfa A fepahrl o Teeh Urafeeet 1 31irehad aTe (heeH ) Bl &

(2) 60° (b) 90° (©) 120° (d) 150°

Teh IR FATSLUC AT ShHeh! T8 h1d &1 L Tehal ?

(a) Th TTSUE AW (b) TTgFeIlhacl (c) =T (d) Tg-fesftar fosesrr
T rd gt 3T, D o |1 U WY SR AW AR Frer Wi H S Tl 8 38ee

e (V) T $YE dlees (V,) T ST &RT

1
@ D ®) (1-D) © 75 @ 725

wh fshent TP wg feseprt & for fad (ripple) it 3mafa 31msege diees |, R et 2
(a) BRAMGTHO  (b) Iehed YR (c) Sfadeg uR (d) 3mgfd 6t 3mafa
Teh TTGFATBIN &

(a) T TR hraet Forem svexfufee fe.a1. @ & g |
(b) Teh YU S TeATard| T < fe¥ &y T hrard Hiar 2 |
(¢) Teh IUSHTTT i1 fe¥ &RT <h JeaTerd! &I T Sheald LT 2 |

(d) 370 T HE TE

FES e A §, SCR | HHES S SRH Bd @ |

(a) 2 (b) 1 (c) 3 (d) 0

Teh Tt foreemom oragger (fefSea) amr=rm: Fret =61 s s &

(a) e aET ®IE (b) o.FH.D. P (c) THIE (d) TFATSRITe Ie
Teh G133, (CRO) JHWT LT 8

(a) fereprgeehra wrhfim

(b) Seizrefesh HihiEm o

(c) ToRIagrashia TUT SoTareiec (e BIhIEHT SHI

(d) 379 4 RIS T
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167. Which of the following device is not used for pressure measurement ?

(a) Diaphragm gauge (b) Pressure bellows
(c) Strain gauge (d) Dynamometer
168. Light is produced in a fluorescent tube by
(a) Electrical conduction (b) Electrical discharge
(c) Electrical convection (d) None of these
169. Which of the following has least lumen efficiency ?
(a) Fluorescent tube (b) LED lamp
(c) Mercury arc lamp (d) Incandescent lamp
170. Spot welding is
(a) Arcwelding (b) Gas welding (c) Resistance welding (d) None of these
171. Which of the following DC motor is used in electric traction ?
(a) DC shunt motor (b) DC series motor
(c) DC compound motor (d) All of these
172. The transfer function of a system is G(s) = S +s) The type and order of the system are
respectively
(@ 2,3 (b) 3,3 (c) 3,4 (d) 3,2
173. Which of the following cannot be measured with multimeter ?
(a) Capacitance  (b) Resistance (c) Current (d) Voltage

174. The maximum demand of a consumer is 2 kW and his daily consumption is 20 units. The
load factor of the consumer is

(a) 10% (b) 41.6% (c) 51.5% (d) 60%
175. Which of the following is a disadvantage of solar and wind energy sources ?

(a) Highly polluting (b) High waste disposal cost

(c) High running cost (d) Unreliable source
176. The present estimated wind energy potential of India is

(a) 2lakh MW (b) 1lakh MW (¢) 3 lakh MW (d) 5lakh MW
177. Candela is the unit of

(a) Flux (b) Luminous intensity

(c) Ilumination (d) Luminance
178. The dielectric loss depends upon

(a) only voltage (b) only frequency

(c) voltage and frequency (d) material of electrode
179. On main line railways more importance is given to

(a) Acceleration (b) Braking (c) Free running (d) Retardation
180. The copper metal obtained by electrolytic extraction is normally

(a) 98% to 99% pure (b) 100% pure

(c) 96% to 97% pure (d) 94% to 95% pure
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(a) SHTHTH T (b) ST & (bellows)

(c) forspfar 7w (d) STERfiE

Teh gfacifea AfcTent H JehTst 341 BIdT &

@) fT@eema (b)) e femma (o) @ dEma () FHAHE T
foet & @ fopmreht <t gare (efficiency) TSR HH B 7
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forea g o o1 T 9T HieX <1 ST BT &
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(@) 2,3 (b) 3,3 (c) 3,4 (d) 3,2

el & o § 9§ fopl Ao T s Heha @ 2
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